Loogranges function $L=T-V=\frac{1}{2}m(x^2+y^2+z^2)-mg^2$ Use $\left(\frac{\partial L}{\partial x}\right)=\frac{\partial L}{\partial x}$; $\left(\frac{\partial L}{\partial y}\right)=\frac{\partial L}{\partial y}$; $\left(\frac{\partial L}{\partial z}\right)=\frac{\partial L}{\partial z}$

 $\frac{\partial L}{\partial x} = m\dot{x}$, $\frac{\partial L}{\partial \tau} = 0$ i $\frac{\partial L}{\partial y} = m\dot{y}$, $\frac{\partial L}{\partial y} = \sigma \dot{z}$, $\frac{\partial L}{\partial \tau} = -mg$

=> mx =0, my =0 m2 = -mg

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3)$$

$$(1.3$$

9.5 Find the general
$$\partial \mathcal{E}$$
 if notion for perticle in spheral
coordinates use $V^2 = V_r^2 + V_b^2 + V_e^2 = r^2 + r^2 \theta^2 + r^3 \sin^2 \theta \quad j^2$
 $T = \frac{1}{2} m V^2 = \frac{1}{2} m \left[(hrit)^2 + (h_0 \theta)^2 + (h_0 \psi)^2 \right] \qquad h_0 = r$
 $h_0 = r$
 $h_0 = r$
 $h_0 = r + h_0 = r$
 $h_0 = r \sin \theta$
 $\frac{1}{3r} = mr^2 \theta \quad j \quad \frac{1}{2} r = \frac{1}{2} mr^2 2 \sin \theta \cos \theta \psi^2$
 $j \quad Q_c = m h_r Q_r = F_r h_r$
 $\frac{1}{3t} = mr^2 \theta \quad j \quad \frac{1}{3\theta} = \frac{1}{2} mr^2 2 \sin \theta \cos \theta \psi^2$
 $j \quad Q_c = m h_r Q_r = F_r h_r$
 $\frac{1}{3\theta} = mq^2 r^2 \sin^2 \theta \quad j \quad \frac{1}{3\theta} = 0$
 $\frac{1}{3\theta} = \frac{1}{3r} r^2 2 \sin \theta \cos \theta \psi^2$
 $j \quad Q_q = m h_q Q_q = F_q h_q$
 $\frac{1}{3\theta} = \frac{1}{3r} r^2 \sin^2 \theta \quad \psi^2 + mq_r$
 $m(r^2\theta + 2rr\theta) = mr^2 \sin \theta \cos \theta \psi^2 + mr q_0$
 $m(r^2\theta + 2rr\theta) = mr^2 \sin \theta \cos \theta \psi^2 + mr q_0$
 $m(r^2\theta + 2rr\theta) = mr^2 \sin \theta \cos \theta \psi^2 + mr q_0$
 $m(r^2\theta + 2rr\theta) = mr^2 \sin^2 \theta \cos^2 \theta^2 + mr q_0$
 $m(r^2\theta + 2rr\theta) = mr^2 \sin^2 \theta \cos^2 \theta^2$

$$\begin{aligned} a_r &= r - r\theta - r\sin\theta \phi \\ a_\theta &= \theta r + 2r\theta - r\sin\theta \cos\theta \dot{\phi}^2 \\ a_\theta &= \theta r + 2r\theta - r\sin\theta \cos\theta \dot{\phi}^2 \\ a_\theta &= \dot{\theta} r + 2\dot{r}\theta + 2\dot{\theta} r \sin\theta + 2\dot{\theta} r \dot{\theta} \cos\theta \end{aligned}$$

>

Lagrangian Mechanics Cont. 1° x' 9.0. V = mg sin Q ×' w The plane starts to incline T = 1 mu? = 1 m (v_7 + v_1) at rate w = constant. T = 1 mu? = 1 m (v_7 + v_1) = m(x'2+x'2w2) - mg x'sind) O=o@t=o, Find motion of partile DL = mx' DL = mx'w2-mg smwt $\frac{d}{dt}\left(\frac{dL}{\lambda \dot{x}'}\right) = \frac{dL}{\lambda x'}$ $\left(\frac{1L}{dx}\right) = mx'$ X'-WX' = -g shut V mx'=mx'w-mgsinwt the solution is at the form C 5 9 XLe1 = ale + be twe + csin wt plugging in mitice condition x(0)=0, x(0)=X0 $a = \frac{x}{2} + \frac{g}{4\omega^2}$ =) Xo=a+b - watbu= -g $b = \frac{x_0}{2} - \frac{g}{4}$ So the motion equation is $\chi(t) = \begin{pmatrix} x_{0} + q \\ \overline{2} + q \\ \overline{2} \end{pmatrix} e^{-\omega t} + \begin{pmatrix} x_{0} - q \\ \overline{2} - q \\ \overline{2} \\ \overline{$ good

9.9 Show that Lagrange's method automat-
1cdly yields equilibres in rotating system.

$$\frac{1}{1} \frac{1}{1} \frac{1}{$$

(0

Hamitonian Functions & commical eq. for ... simple Atroad $T = \frac{1}{2}m_{1}\dot{x}^{\prime} + \frac{1}{2}m_{2}\dot{x}^{\prime} + \frac{1}{2}T\left(\frac{\dot{x}^{\prime}}{a^{\prime}}\right)$ r (h)) lex V = - xmg - (l-x)m2g H = T + V = 1 x (m, + m, + I) - x m, g - (1 - x) m, g $T - V = j x^2 \left(m_1 + m_2 + \frac{T}{a_1} \right) + \chi m_1 \gamma + (l \cdot \chi) m_2 \gamma$ $P_X = \frac{\partial L}{\partial x} \Rightarrow P_X = \dot{x} \left(m_i + h_L + \frac{T}{z_i} \right)$ $\frac{1}{2} H(P_{X}, X) = \frac{P_{X}^{2}}{2} \left(\frac{1}{m_{1} + m_{2} + I_{R^{2}}} \right) - m_{1}g_{X} - m_{2}g(\ell - X)$ $\frac{\partial H}{\partial x} = \left[-m_{1}g + m_{2}g = -p_{x} \right] \qquad \frac{\partial H}{\partial p_{x}} = \left[\frac{p_{y}}{m_{1}+m_{1}+\frac{p_{1}}{q_{1}}} + \frac{p_{y}}{m_{1}+m_{1}+\frac{p_{2}}{q_{1}}} \right]$

9.19 (1)
9.19 (1)

$$T = \frac{1}{2} m v^{2} = \frac{1}{2} m (r \dot{\theta}^{2})$$

 $T = \frac{1}{2} m v^{2} = \frac{1}{2} m (r \dot{\theta}^{2})$
 $V = -ng r (1 - cos \theta)$
 $L = \frac{1}{2} m r^{2} \dot{\theta}^{2} + mg r (1 - cos \theta)$
 $L = \frac{1}{2} m r^{2} \dot{\theta}^{2} + mg r (1 - cos \theta)$
 $R_{0} = \frac{3L}{3\theta} = mr^{2} \dot{\theta}$
 $H(r, r, \theta) = \frac{1}{2} mr^{2} \left(\frac{P_{0}}{mr}\right)^{2} - mg r (1 - cos \theta)$
 $H(r, r, \theta) = \frac{1}{2} mr^{2} \left(\frac{P_{0}}{mr}\right)^{2} - mg r (1 - cos \theta)$
 $H(r, r, \theta) = \frac{1}{2} mr^{2} \left(\frac{P_{0}}{mr}\right)^{2} - mg r (1 - cos \theta)$
 $H(r, r, \theta) = \frac{1}{2} mr^{2} \left(\frac{P_{0}}{mr}\right)^{2} - mg r (1 - cos \theta)$
 $H(r, r, \theta) = \frac{1}{2} mr^{2} \left(\frac{P_{0}}{mr}\right)^{2} - mg r (1 - cos \theta)$
 $H(r, r, \theta) = \frac{1}{2} mr^{2} \left(\frac{P_{0}}{mr}\right)^{2} - mg r (1 - cos \theta)$
 $H(r, r, \theta) = \frac{1}{2} mr^{2} \left(\frac{P_{0}}{mr}\right)^{2} - mg r (1 - cos \theta)$
 $\frac{1}{2} \frac{1}{2} mr^{2} \left(\frac{P_{0}}{mr}\right)^{2} - mg r (1 - cos \theta)$
 $\frac{1}{2} \frac{1}{2} \frac{1}{mr} \frac{1}{2} \frac{1}{mr} \frac{1}{2} \frac{1}{mr} \frac{1}{2} \frac{1}{mr} \frac{1}{2} \frac{1}{mr} \frac{1}{2} \frac{1}{mr} \frac{1}{mr} \frac{1}{2} \frac{1}{mr} \frac{1}{$

- Andrewson

6

projectile in uniform gravitational field. 9.19 CO Y $T = \frac{1}{2} m v^2 = \frac{1}{2} m (\dot{x}^2 + \dot{q}^2 + \dot{z}^2)$ x V=mg $M = T + v = \frac{1}{2} N (\dot{x}^{2} + \dot{y}^{2} + \dot{z}^{2}) + mg z$ L= in(x'+j'+z') - ng = Px = bL = nx 17 = mj Pz $H = \frac{1}{2m} \left(P \dot{x} + P \dot{y} + P \dot{x} \right) + mg \dot{x}$ JH = 9p 2 H = - Zh V V $\frac{P_{x}}{m} = \dot{x}$ 0= x9-- Py = 0 Py = ý ng=-pt Par シモ

$$\frac{915}{4} = \frac{1}{2} = \frac{1}{2} + \frac{1}{2} = \frac{1}{2} + \frac{$$

-LUM C

WEE 10/80

THE LAGRANGIAN AND HAMILTONIAN FOR ELECTROMAGNETIC FORCES AND/OR NONINERTIAL COORDINATES

If the forces are electromagnetic forces on charged particles, then $\vec{r} = q \vec{E} + q \vec{v} \times \vec{B}$. These forces are not conservative, in general.

Similarly, if the coordinate system is noninertial, the vector equation of motion contains non-conservative "fictitious" force terms, so that $\vec{r} = \vec{F} - \vec{A}_{0} - 2\vec{\omega} \times \vec{r} - \vec{\omega} \times \vec{r} - \vec{\omega} \times \vec{r}$.

Since the forces are not conservative, there are no simple, scalar potentials which can be used to eliminate the forces entirely from Lagrange's equations. However, it turns out that we can use a combination of scalar and vector potentials in both problems to eliminate the forces, writing the Lagrangian in terms of these potentials alone.

In the electromagnetic case, we can write

 $\vec{E} = -\vec{\nabla} \phi - \frac{\partial \vec{A}}{\partial t}$ and $\vec{B} = \vec{\nabla} \times \vec{A}$,

where $\vec{A} = \vec{A}(\vec{r},t)$ is the vector potential, and $\phi = \phi(\vec{r},t)$ is the scalar potential.

We can use rectangular coordinates to explore the equations of motion, since Lagrange's equations are independent of coordinates--so we do the easiest coordinate system, but the result will be valid in any coordinates.

$$\frac{d}{dt} \left(\frac{\partial T}{\partial \dot{x}_{i}} \right) - \frac{\partial T}{\partial x_{i}} = m \ddot{x}_{i} = F_{i} = q E_{i} + q (\vec{v} \times \vec{B})_{i}$$

$$= -q \frac{\partial \phi}{\partial x_{i}} - q \frac{\partial A_{i}}{\partial t} + q [\vec{v} \times (\vec{\nabla} \times \vec{A})]_{i}$$

$$\vec{v} \times (\vec{\nabla} \times \vec{A}) = \vec{\nabla} (\vec{v} \cdot \vec{A}) - (\vec{v} \cdot \vec{\nabla}) \vec{A}, \text{ where } \vec{\nabla} \text{ operates}$$

$$\text{only on } \vec{A} \text{ in } \text{The first Term on the right.}$$

$$\Rightarrow [\vec{v} \times (\vec{\nabla} \times \vec{A})]_{i} = \sum_{j=1}^{3} \dot{x}_{j} \frac{\partial A_{j}}{\partial x_{i}} - \sum_{j=1}^{3} \dot{x}_{j} \frac{\partial A_{i}}{\partial x_{j}}$$

$$\text{Now } \frac{d A_{i}}{dt} = \frac{\partial A_{i}}{\partial t} + \sum_{j=1}^{3} \frac{\partial A_{i}}{\partial x_{j}} \dot{x}_{j}$$

$$\Rightarrow F_{i} = -q \frac{\partial \phi}{\partial x_{i}} - q \frac{\partial A_{i}}{\partial t} + q \sum_{i=1}^{3} \dot{x}_{i} \frac{\partial A_{j}}{\partial x_{i}} - q \sum_{i=1}^{3} \dot{x}_{j} \frac{\partial A_{j}}{\partial x_{j}}$$

So if we let
$$L = T - q\Phi + q\vec{v} \cdot \vec{A}$$
, we have

$$\frac{d}{dt} \left(\frac{\partial L}{\partial \dot{x}_{i}} \right) - \frac{\partial L}{\partial x_{i}} = 0.$$
Then $p_{i} = \frac{\partial L}{\partial \dot{x}_{i}} = m\dot{x}_{i} + qA_{i}$, $n \vec{p} = m\vec{v} + q\vec{A}$ (!)
 $H = \sum_{i=1}^{3} p_{i}\dot{x}_{i} - L = \vec{p} \cdot \vec{v} - T + q\Phi - q\vec{v} \cdot \vec{A}$
 $= \vec{p} \cdot \frac{\vec{p} - q\vec{A}}{m} - \frac{(\vec{p} - q\vec{A})^{2}}{2m} + q\phi - \frac{q}{m}(\vec{p} - q\vec{A}) \cdot \vec{A}$
 $= \frac{(\vec{p} - q\vec{A})^{2}}{2m} + q\Phi = T + q\phi = E.$

In the case of a noninertial coordinate system, again using rectangular coordinates for simplicity, we have

$$\frac{d}{dt} \left(\frac{\partial T}{\partial \dot{x}_{i}} \right) - \frac{\partial T}{\partial x_{i}} = m\ddot{x}_{i} = F_{i} - mA_{oi} - 2m(\vec{\omega} \times \vec{r})_{i} - m(\vec{\omega} \times \vec{r})_{i}$$

$$- m[\vec{\omega} \times (\vec{\omega} \times \vec{r})]_{i}$$

$$\text{Let } F_{i} = -\frac{\partial V}{\partial x_{i}} + F_{i}', \text{ where } F_{i}' \text{ is not conservative.}$$

$$\text{The } m\ddot{x}_{i} = F_{i}' - \frac{\partial}{\partial x_{i}} \left[V + m\vec{r} \cdot \vec{A}_{o} + \frac{m}{2} \vec{r} \cdot (\vec{\omega} \times (\vec{\omega} \times \vec{r})) \right]$$

$$- 2m(\vec{\omega} \times \vec{r})_{i} - m(\vec{\omega} \times \vec{r})_{i}$$

He Coniolis term makes is look like an analog of
$$\vec{B}$$
 in
the electromagnetic case. So we look for a vector potential
which satisfies $\vec{w} = \vec{\nabla} \times \vec{A}$. Since $\vec{w} = \vec{\omega} t t$, we easily find
 $\vec{A} = \frac{1}{2} \vec{w} \times \vec{r}$.
So we try $L = T - V - m\vec{r} \cdot \vec{A}_{0} - \frac{1}{2}m\vec{r} \cdot (\vec{w} \times (\vec{w} \times \vec{r})) + m\vec{v} \cdot \vec{w} \times \vec{r}$.
His gives $\frac{d}{dt} \left(\frac{\partial L}{\partial \dot{x}_{i}} \right) - \frac{\partial L}{\partial \dot{x}_{i}} = F_{i}'$, as desired.
Now $p_{i} = \frac{\partial L}{\partial \dot{x}_{i}} = m\dot{x}_{i} + m (\vec{w} \times \vec{r})_{i}$, or $\vec{p} = m\vec{v} + m(\vec{w} \times \vec{r})$.
So \vec{p} is the momentum relative to coordinates which are not rotating.
Since $\vec{N} = \frac{\vec{p} - n\vec{w} \times \vec{r}}{2m}$, $H = \vec{p} \cdot \vec{v} - L = \frac{p^{2} - \vec{p} \cdot n(\vec{w} \times \vec{r})}{m} - \frac{(\vec{p} - n\vec{w} \times \vec{r})^{2}}{2m} + V + m\vec{r} \cdot \vec{A}_{0} + \frac{1}{2}m\vec{r} \cdot (\vec{w} \times (\vec{w} \times \vec{r})) - (\vec{p} - n\vec{w} \times \vec{r}) \cdot (\vec{w} \times \vec{r})$
 $\Rightarrow H = (p - m\vec{w} \times \vec{r})^{2} + V + m\vec{r} \cdot \vec{A}_{0} + \frac{1}{2}m\vec{r} \cdot (\vec{w} \times (\vec{w} \times \vec{r})) = T + V_{aff}$.